BRAOXBEHRELENRRE (TR2E3A KHEE)
MIBIX3A K% TORME
1 RBEEHREERDR

R I 73 i w1 B F B
REHH 9,975 # -223 & -2.2 % 110.8 {4
% EF ¥ 48 A +6 A +14.3 % 0.53 A
BEEHN 11,829 A -181 A -1.5 9 131.4 A
2 £H7—X MIEHL

D|eolole|eo|eo|o|e|e|le|a|d®

2w la|x|x|g|x|s| |6l F| | =

= 5 =
| = |w|m | @B | @Az &
58 & | 55| 48| 48 | 47 | 46 | 46 | 44 | 42 | 38 | 38 | 37 | 37 1,095
O | +5 | 46| +2|-16| -2 | -4 |+14| 4| 9| +5|-2]| -4 =21
MEEIERL 2 8 6 1 4 2 | 14 6 5112110 9
3 KEERIFEE DI
T I
BEEFEFHESD 6 12.5 % +1 +20.0 % 31.0 %
“EEFEHEH 13 21.1 % -1 -35.0 9% 15.6 %
HEREHFEHFP 4 8.3 % +1 +33.3 % 12.8 %
# 1T =8 24 50.0 % +10 +711.4 9% 40.3 %
< 1)) it 1 2.1 9% +1 | #DIV/0! o4 0.3 9%
it 48 100.0 % +6 +14.3 % 100.0 %
F1 BREINMAUTE2MREIAAQEOBRIONTHRE—BLAWNGELHY £9,
4 FERITEE DR
S D L B S
15®mUT 0 0.0 % -1 -100.0 9% 14.2 %
16~24% 9 18.8 9% +3 +50.0 % 9.5 9%
25~29 1 2.1 % -2 -66.7 % 6.6 %
30~39=% 6 12.5 % +1 +20.0 % 16.5 %
40~497% 2 4.2 % -4 -66.7 % 14.0 9%
50~59m% 6 12.5 % +2 +50.0 % 12.7 %
6 0~6 47 4 8.3 % +2 [ +100.0 9% 6.8 %
6 5@ U L 20 M.7 9% +5 +33.3 9 19.2 9%
it 48 100.0 % +6 +14.3 % 100.0 %

F BERERMRUTE2MEERAOORMNGTHE - BLEWNVGENHY FT .
E2 OXIF, ATERUE 101 £RY.



5 HEEHAEENR (RIFERLL)

ES %) I F ? = = = Z

U5) E & i

x5 2 | | 2|2t | 8| 8| % | =

= 1 1

54 UF 4 e H E = =
X £ 9,975 206 528 208 916 484 2,443 1,135 2,472
FEH B -223 -43 +29 +11 -5 +17 -42 -49 -2
BkE (%) 100 2.1 5.3 2.1 9.2 4.9 24.5 11.4 24. 8
X £ 48 0 0 0 0 1 20 9 15
I EH RIS +6 +0 +0 +0 +0 +1 +5 +3 +5
BRE %) 100 0.0 0.0 0.0 0.0 2.1 41.7 18.8 31.3
X £ 11, 829 222 542 209 973 431 1,426 1,849 4 454
BIEEHN BISEEE -181 -52 +32 +10 -10 +19 +29 -100 -184
HkE (%) 100 1.9 4.6 1.8 8.2 3.6 12.1 15.6 37.7

F BERERMRUTE2MEERADOORMNGTHE - BLEWNVGENHY FT .
F2 BE (16~241) LXEOBHEL, TNETNEELLESFE 1 LFE(BRXERPRIREVE) LESLBROBHTT,

6 HEEHINEREELR (RIFERLL)

o %) I F F = = = 25
® £ = |
9 5 | - |z |zt 8| 8
=] 1 64
54 Uil H sl B & E = %
x F 6 0 0 0 0 0 1 2 3
BEEFEREH
BIEL +1 +0 +0 +0 +0 +0 +1 +0 +1
x F 13 0 0 0 0 1 1 6 6
ZEREEEH
B4 -1 +0 +0 +0 +0 +1 +0 +2 -9
x F 4 0 0 0 0 0 1 0 3
BEEERAH
B4 +1 +0 +0 +0 +0 +0 -1 +0 +2
x F 24 0 0 0 0 0 17 1 6
% 17 th
BIEL +10 +0 +0 +0 +0 +0 +5 +1 +4
x F 1 0 0 0 0 0 0 0 1
z 0
B4 +1 +0 +0 +0 +0 +0 +0 +0 +1
N " x F 48 0 0 0 0 1 20 9 19
A 6| 0| =0| 0| =0 +5 +3 I

1 EE (16~245)




7 FEER - IKERIFEER (RIEREL)

15 16 20 25 30 40 50 60 65 =) ¥
= N -2 K S S S T A S P O I B A B - 73
7 B | 19 | 24 | 20 | 39 | 49 | 59 | 64 | w &=
T | B | B | & | % | ®| & | & | £ |z (%)
X £ 0 2 0 0 1 0 1 1 1 6 ]12.5
BRERET BIEL| -1 | +1 -1 0| #1 | -1 | =x0]| + +1 | + —
N X £ 0 2 4 0 4 1 0 1 1 13 | 27.1
SHEREY e z0 [ x0] 2] 3 =0 4| 2 =z0 [ z0] 7] =
_ X £ 0 0 0 1 0 1 1 0 1 4 8.3
RERRAT T z0 (=0 =0 | 51 (=0 | @ | A o] o =1 =
4= X = 0 0 1 0 1 0 3 2 17 24 1 50.0
B 1T B =
BIEEE| £0 | £0 | +1 | £0 | £0 | =0 | +2 | +2 | +5 | +10 —
X £ 0 0 0 0 0 0 1 0 0 1 2.1
T O i Bl 20 | 20 | 20| £0 | £0 | £0 | +1 | £0 | £0 | +1 —
N o |& ®] of 4 5] 1] 6[ 2] 6[ 4 2] 48[ 100
= “olwrEr] 1 ] 2] 2 ] 4] 2] 2] 5] 6| —
BRE (%) 0.0 83(10.4(2.1112.5]14.2112.5]1 8.3 141.7| 100 -
F1 BREIDMBAUTE2AMEIAOEOBIOATRME—BLAENVNEELHY T,
8 BEEFEHNIEEFENL— ML FESERADOIRR (BIEXEL)
X n x £ B £ R
BEERERDORSE 6 5 +1
O— MR FIEERRE 3 2 +1
E F H = (%) 50.0 40.0 +10.0
4 & i T ¥ 1 1 +0
9 V—MRIIIEERAREDEFHTE (RIEXLE)
E3 n £18 | EEER | BEER | SAER | MOER | BEED | HIER |2 ofth B
w | A F 0 1 0 0 1 1 0 0 3
#
FRARTR BIEELE| £0 | =0 | =0 | -1 +1 +1 | £0 | =0 +1
e | A EF 0 0 0 0 1 0 0 0 1
i g 3
EEHERR BIEELH| £0 | =0 | £0 [ -1 +1 | £0 | £0 | =0 +0
10 E7FEHEEANER (BTSN L)
X ) 218 | EBEP | BEER | SEER | MoER | BEED | BIER |2 otk 3 FEREE (%)
X £ 0 0 0 0 0 0 0 0 0 —
= R Bl 20| 20| 20| £0 | £0 | £0 | £0 | £0 | =0 —
e = X £ 0 0 0 0 1 0 0 0 1 100.0
Al BIER| £0 | 20 | 20| -1 | +1 | 0| =0 | =0 | =0 —
. X = 0 0 0 0 0 0 0 0 0 —
o 2
JRY AT Bl 20| 20| 20| £0 | £0 | £0 | £0 | £0 | =0 —

F BRERMAUTE2MMEEEAOLORMAFHE—BLEVGENHYET,

3




i X BT 4 Bl 38 a8 =B i A 4K (ER224F3F KHEE)
E) %z & = & | B9E | = | BinE | B0E | 16~%m | =he
xE Al 3t Bl =l :D) 3 ¢ BT | % ;PRI | % : BT | B :OEI| % :ORT| B A
F T & F T E=3 k=3 k=3 k=3 E=3
X BT % i 54 - =1 I # M| &b | ;b | #H | E |G
B R X 254 +26 3 +3 278 +10 1 +1 0: =0 0: =0 2 42 0: =0 3: 43
=) X 236 -2 2 +0 276 -4 0: =0 2 i 0+ 0: =0 0: -1 2: +2 0: -1
[1ié] X 138 +4 1 +1 164 +11 0: =0 0: =0 0: =0 1 +1 0: =0 1 +1
as X| 213 -3 0 -1 245 -10 0: =0 0: =0 0: =0 0: -1 0: =0 0: -1
1% & X 178 -35 0 -1 191 -50 0: =0 0: =0 0: =0 0: -1 0: =0 0: -1
& B K 204 -18 0 +0 235 -33 0: =0 0: =0 0: =0 0: =0 0: =0 0: =0
Rty AKX 174 -13 1 +1 205 -10 0:+0 1 +1 0:+0 0:+0 0:+0 0:+0
piL:} X 215 +6 0 +0 258 +14 0: =0 0: =0 0: =0 0: =0 0: =0 0: =0
B OF X 144 -20 1 -2 169 -13 0: -1 1 -1 0:i+£0 0:i+£0 1 +1 0:i+0
ElE R K 178 -4 0 -1 217 -3 0: =0 0: =0 0: =0 0: -1 0: =0 0: -1
B 4 X 340 +45 3 +1 392 +57 0:+0 1 +1 1 +1 1 -1 0:+0 1 -1
% X 176 -3 1 +1 230 +20 0: =0 0: =0 0: =0 0:=*0 0: =0 0: =0
7 E K 330 +54 0 -1 382 +58 0: =0 0: -1 0: =0 0: =0 0: =0 0: =0
B H K 262 +41 1 +1 309 +37 0:=x0 0:=x0 0:=x0 1 +1 0:i=x0 1 +1
mFE B X 322 -37 3 +2 393 -33 0: =0 1:+£0 0:=+0 2 42 1 +1 1 +1
x X| 92 -20 0 +0 104 -28 0:i=x0 0:i=x0 0:i=x0 0:i=x0 0:i=x0 0:i=x0
R X 151 +10 3 +3 170 +8 0:+0 0:=+0 1 +1 2 42 0:=+0 0:=+0
BB X 139 =14 0 -1 171 -9 0:=+0 0:=+0 0:=+0 0: -1 0:=+0 0: -1
=t 3,746 +17 19 +6 4,389 +22 2 i +0 6 : +1 2 +2 9 : +2 4 : +4 7:i+0
Il X 220 -46 1 +0 250 -49 0: =0 0: =0 1: 0 0: =0 0: =0 1:x0
N ES X 136 -1 0 +0 153 -18 0: =0 0: =0 0: =0 0: =0 0: =0 0: =0
b J7 X 144 +13 1 +1 169 +23 0: =0 0: =0 0: =0 1 +1 0: =0 0: =0
% |s 2 X 185 -20 3 +3 211 -24 0:+£0 0:+0 1 +1 2: 42 0:+0 0:+0
ER 179 +16 0 +0 203 +24 0: =0 0: =0 0: =0 0: =0 0: =0 0: =0
m|Z E K 154 +16 0 +0 174 +29 0:i+£0 0:i+0 0:i+£0 0:i+£0 0:i+£0 0:i+0
B4 X 125 +] 0 +0 147 +0 0:+0 0:+0 0:+0 0:+0 0:+0 0:+0
B 1,143 -25 5 +4 1,307 -15 0:+0 0:+0 2+ 3 +3 0:+0 1140
A B 496 +3 2 +0 575 -16 0: =0 1:=x0 0: =0 1:=x0 0: =0 2+
EOE 412 +29 2 +0 485 +28 0: =0 2 + 0: =0 0: -1 1 +1 0: =0
#H B2 M 195 -23 0 +0 222 -25 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0
B R 531 -37 6 +2 626 -31 1 +1 2 i +0 0: =0 3 + 2% 42 3 +
/N B R 246 -33 3 +2 281 -b5 2i + 0:i=x0 0:i=+x0 1 +1 0:i -1 1 +1
¥ o B 222 -21 4 +4 264 -20 1 +1 0: =0 0:+0 3: 43 1 +1 3: 43
2 F 4 -5 0 +0 47 -1 0:=x0 0: =0 0: =0 0: =0 0: =0 0: =0
HE R 900 +23 1 -4 1,057 +15 0: =0 0: -4 0: -1 1 +1 0: -2 1:+£0
= FE 53 +3 1 +1 61 +0 0: =0 0: =0 0: =0 1 +1 0: =0 1 +1
Z B M 152 -25 0 -1 178 -35 0: =0 0: =0 0: =0 0: -1 0: =0 0: -1
E KX T/ 373 -52 0 -3 457 -32 0: =0 0: -2 0: -1 0: =0 0: -2 0: -1
X 1 324 -13 2 +1 395 -6 0:+£0 1 +1 0:+£0 110 0:+0 0: -1
7 2% 7 131 +6 0 -2 170 +24 0: =0 0: -2 0: =0 0: =0 0: =0 0: =0
B E A M 166 -12 0 -2 209 +11 0: -1 0:i+0 0:i+£0 0: -1 0: -1 0:i+£0
E M 156 -13 0 +0 190 -3 0: =0 0: =0 0: =0 0: =0 0: =0 0: =0
B W 25 -20 0 +0 30 -26 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0 0:i=+0
% % W 111 =12 0 +0 121 -23 0:+0 0:+0 0:+0 0:+0 0:+0 0:+0
=t 4,534 -202 21 2 5, 368 -195 4: +2 6: —6 0: -2 1 +4 4: -2 1 +4
m & 9,423 -210 45 +8 11, 064 -188 6 i +2 12§ -5 4 i + 23 i 49 8 i +2 19 : +4
E L M 37 +1 0 -1 46 +3 0: -1 0: =0 0: =0 0: =0 0: =0 0: =0
£ Il H] 92 +9 2 +1 104 +16 0:i =0 110 0:i=x0 1 +1 1 +1 1 +1
X B H] 45 +6 0 -1 56 +14 0:+0 0: -1 0: =0 0: =0 0: =0 0: =0
Z = M 24 +2 0 +0 28 +0 0: =0 0: =0 0:=x0 0: =0 0: =0 0: =0
BT |f 3 10 -3 0 +0 12 -5 0:=+0 0:=+0 0:=+0 0:=+0 0:=+0 0:=+0
X FH H] 25 -8 0 +0 37 -3 0: =0 0: =0 0: =0 0: =0 0: =0 0: =0
% H ] 1 -7 0 +0 12 -14 0: =0 0: =0 0: =0 0: =0 0: =0 0: =0
W de g 7 -2 0 +0 10 -4 0: =0 0: =0 0: =0 0: =0 0: =0 0: =0
B R H] 14 -7 0 +0 15 -10 0:+0 0:+0 0:+£0 0:+0 0:+0 0:+£0
B AR ] 35 -2 0 -1 50 +0 0: -1 0: =0 0: =0 0: =0 0: =0 0: =0
H # 13 +5 0 +0 26 +12 0:i+0 00 0:i+0 0:i+0 0:i+£0 0:i+£0
R 17 -15 0 +0 21 -18 0:=0 0:=0 0:=0 0:=+0 0:=+0 0:=+0
Z Il H 45 -6 0 +0 52 -6 0:+0 0:+0 0:+0 0:+0 0:+0 0:+0
#MIE M 5 +0 0: =+0 9 +4 0:=+0 0:=+0 0:=+0 0:=+0 0:+0 0:+0
B 380 -27 2 -2 478 -11 0: -2 1 -1 0:+0 1 +1 1 +1 1 +1
Ex% 55%% 172 +14 1 +0 287 +18 1 +1 0:i -1 0:i=+0 0:i=+0 0:i=+0 0:i=+0
& & 9,975 -223 48 +6 11,829 -181 7: + 13: -7 4 i +1 24 1 +10 9: +3| 20: 45




BT R 3 BB i FE A KR (FR224F3 A RFETE)
#h FEGH EEH BEEH 1K EE R BE & 31

HETH £ %C PR RN R VU I HEE | —#%HE | BEkE | $17F | 2o
A |aEL| AR |iEL| RE AT RE |fiE| KE |aEl

B OE ™ 3,746 +7 ] 19 +6 | 4,389 212006 [+ 2]+2]9+2] 1]+
o 1,143 25| 5 +4 | 1,307 500 0ofxo0 2|[+]3[+3|0][x0
#E " il 496 3| 2 +0 575 160 fx0 1 {20 0|0 1[0 0[xo0
oA W 195 231 0 +0 | 222 25| 0|0 0|0 0|0 0[x0 0|x0
2 F wm=E| # 51 0 +0 47 1o |x0 00 0|x0 0x0 0]|x0
= @ | 53 3 1 + 61 +0| 0|0 0|xo0 0|x0 1 |[+1]|0]|x0
= Er|g| 37 1] 0 -1 46 3o |-1]o0ofxo0 0|xo0 0[x0 0]|x0
I it c| 822 -21 3 +0 | 951 39l o1 1|xo0l0|x0 2|+ |0][x0
E Xk wR 31 520 0 -3 | 457 32lofxo0 0o |-2[0|-1]0fx0 0[xo0
X B ™ 324 13 2 + 395 6|0 |x0 1 |+1|0]|x0 1|0 0]|x0
w2 2 w2 166 121 0 -2 | 209 +Mlo|l-1]o|xo 0|0 0|-1|0]|x0
Bl 156 13 0 +0 190 3|0 |x0 0|0 0|x0 0 =0 0]|x0
% M ™ 111 121 0 +0 121 23| 0|0 0|0 0|0 00 0|x0
T )Il BTl 45 6| 0 +0 52 6| 0|0 0|0 0|x0 0[x0 0]|x0
b= [ T 5 +0 0 +0 9 +#4 | 0 (=0 0|0 0|0 0(x0 0]|x0
I B c| 1,180 | -108 | 2 -4 | 1,433 S5l o011 |-1lo|-1]|1][-1l0][x0
T o7 wmM] 412 29 | 2 +0 | 485 28 ofx0 2(+«1|0|x00|-1|0][x0
% R ™ 531 37| 6 +2 | 626 Bl 1|+ 2|20 0|x0 3|+1|0]|x0
¥ » 5 || 222 -21 4 +4 | 264 20| 1|+ o0o|xo0 0|xo0 3|+3|0]|x0
2 % ™ 152 251 0 -1 178 35| 0|0 0|xo0 0|0 0|-1|0]|x0
® e & 131 6| 0 -2 170 24 0|0 0|-2[0|x0 0[x0 0|x0
£ )l A 92 9| 2 + 104 +16| 0|0 1 |0 0|x0 1 |[+1|0]|x0
X B HET|#| 45 6| 0 -1 56 +14f 0|0 0|-1|0|x0 0[x0 0|x0
- = M| 24 20 0 +0 28 +0| 0|0 0|0 0|0 00 0[x0
I g c| 1,609 31| 14 +3 | 1,911 42+ 5]-2l0|x0 7[+|0]|x0
R MRl 25 20 0 +0 30 26| 0o [0 00 0|0 0[x0 0[x0
o3t BTl L] 10 30 0 +0 12 5| 0 |x0 0|0 0|x0 0[x0 0]|x0
X F#* H 25 8| 0 +0 37 3|0 |x0 0|0 0|x0 00 0]|x0
o om| oEr|| 11 11 0 +0 12 14| 0|0 0|0 0|0 0[x0 0|x0
ITRNE A 1 7 21 0 +0 10 4|0 |x0 00 0|x0 0 =0 0]|x0
Bl Bt Er|T| 14 11 0 +0 15 10| 0 |x0 0|0 0|0 0[x0 0|x0
I ftlc| 92 471 0 +0 116 62| 0 (=0 0|0 0|0 0[x0 0[x0
B R B 246 33| 3 +2 | 281 S5 2+ ]ojxolo0|xo0 1|[+1|0][xo0
% R E7M| 35 21 0 -1 50 +0| 0o |-1|]o0|xo0 0|x0 0[x0 0[x0
E g || 13 500 +0 26 +12| 0|0 0|0 0|0 00 0|x0
o R AT 17 15| 0 +0 21 18| 0|0 0|0 0|0 00 0|x0
I Bl c| 311 45 | 3 + 378 61| 2 (0 00 0|0 1 [+|0][x0
*ﬁ#ﬁﬁﬁif; 900 +23 [ 1 -4 | 1,057 5[0 fx0 0 |-4lo0|-1|1][+|0][xo0
I g c| 900 +23 | 1 -4 | 1,057 +5)0fx0 0|40 |-1]|1|[+x|0][x0
=R E B 172 +4 | 1 +0 | 287 8|1 [+1]o|-1]o|xo0 ofx0 0[xo0
& £ 9,975 | -223 | 48 +6 | 11,829 | —181 | 6 | +1 [ 13| -7 | 4 | +1 |24 |+10] 1 |+




